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QUESTION 1

High availability at the transport network layer is provided through the combination of what three technologies? (Choose
three.) 

A. Alternate Route 

B. Loop-Free Alternate Fast Reroute 

C. BGP 

D. HSRP 

E. BFD 

F. BGP Core and Edge Fast Reroute and Edge protection 

Correct Answer: ABF 

 

QUESTION 2

When configuring SAToP what must the framing be configured as? 

A. Framed 

B. Native 

C. Structured 

D. Unframed 

Correct Answer: B 

 

QUESTION 3

What does virtualization of the core route reflectors do? 

A. limit the availability 

B. does not enhance resiliency 

C. enhance resiliency or availability 

D. adds complexity 

Correct Answer: C 

 

QUESTION 4
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Which technology uses two or three antennas to receive (input) the signal and two or three radios to transmit (output),
plus special signal processing to improve range, reliability, and throughput. 

A. HSPA 

B. CDMA 

C. LTE 

D. MIMO 

Correct Answer: D 

 

QUESTION 5

What are three purposes of partitioning the backhaul network into independent IGP domains? (Choose three.) 

A. to not enhance stability 

B. to reduce the size of the routing and forwarding tables on individual routers 

C. to ensure that reachability is not possible between domains 

D. to not ensure stability 

E. faster convergence 

F. to enhance stability 

Correct Answer: BEF 
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